
Minimum shaft diameter d = 45 . 9 mm

=> d = 50mm (to use table)

I·= zor

Bearing forces : R
,

+ R2 = 2000 No axial load => Po = P = 2250 for bearing (

0 . 16 Rs = 0. 18 (2000) (we choose this first)
=> R = 2250N

, R
,

= - 350N

1) Let us consider both ball and roller for bearing 2.

① For ball bearings ,

to = > 2 = Co > 240 = 4500 W

=> All sizes are okay
.

Fatigue life for standard 10 % failure rate

↳= (f) = (50) - 1000 = (21000" x 2500 = 22 . 5 kn

=> 6210 (D = 90
,

B = 20) or 6310 (D = 110
, B = 27)

② For roller bearings ,
to OK for all sizes

40 = (f) > 1000 = C = 1000 x 2250 = 17.
87kN

=> All sizes are OK
,

choose 1010 (D = 80 , B = 16)

d DB Cr Cor



2) For bearing

C = 10005 x 250 = 2500 => We can choose 6810

=> fo= = 1 = 2404= 16700 million we


